

Townhouse in Hamrun



Hamrun, Central



€260,000

Reference No: 240291001-7479

 Total Rooms: **7**

 Floor Area (m²) : **39**

 Bathrooms: **2**

 Bedrooms: **3**

Townhouse - For Sale - Hamrun

HAMRUN - A TOWNHOUSE being sold in shell form in Hamrun presenting five large rooms, three of which include shower rooms. This property is ideal for both residential and commercial purposes.

Features

- ✓ En Suite
- ✓ Entrance Hall
- ✓ Balcony

Rooms

- ✓ Kitchen : 3.62 x 4.62 m (16.72 m²)
- ✓ Living : 3.68 x 3.68 m (13.54 m²)
- ✓ Double Bedroom : 5.68 x 3.68 m (20.9 m²)
- ✓ Double Bedroom : 3.68 x 4.17 m (15.35 m²)
- ✓ Double Bedroom : 3.68 x 6.65 m (24.47 m²)
- ✓ Bathroom Ensuite : 3 x 2 m (6 m²)
- ✓ Shower : 2 x 2 m (4 m²)
- ✓ Open Space : 2 x 3 m (6 m²)

Gallery





RE/MAX North - Qawra

RE/MAX North - Qawra

M: 21585844

E: qwr@remax.com.mt

T: 21585844

RE/MAX North - Qawra

Dawret il-Gzejjer, Qawra, St Paul's Bay, Malta